normalized X?

1072

107

< x2/ndf >

Ratio

< x2/ ndf >

Ratio

107}

[ normalized x? probability |

Std Dev

chiz Chiz_prob

- Entries 7311 Entries 7311

- Mean 1108 Mean 0.4799

: Std Dev 0.6764 0.035 - |std Dev 0.3069

|
hiz : PR

______ Entries 3644 0.03 i - [Entres 3644
Mean 1.068 Mean 0.4961

0.6397

2 4 6 8101214161820

X2

=
L) LA LALLS M

1 LSt Dey 0.3028

I Emn
Entries 3643

- | Mean 0.4966
Std Dev 0.3028

- | == DQM_V0001_R000000001__Global

s DQM_V0001_R0O00000001__Global__|

|__cmssw1000time__RECO

mkFitNewOLD1000time__RECO
mkFitNewBins2DC1000time__RECO

7| m—DQM_V0001_R000000001__Global_i

L
T

< X2/ ndf >
N
00

i
T T[T [T [T T I [T TIT T

Ratio

1072 107
AR(track, ]et?



	Contents
	Page 1


